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10. LOGARITHMIC AND IMPLICIT
DIFFERENTIATION (14/10/2021)

Goals.

(1) Differentiation involving logarithms
(2) Implicit differentiation
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Math 100 — WORKSHEET 10
LOGARITHMIC AND IMPLICIT DIFFERENTIATION

1. REVIEW OF LOGARITHMS

(1) log (¢') =\0 log(2100) = \QO(L% 2)

(2) A variant on Moore’s Law states that computing
power doubles every 18 months. Suppose comput-
ers today can do Ny operations per second.

(a) Write a formula predicting the future:
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2. DIFFERENTIATION
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(2) (Logarithmic differentiation) diﬂferentiate% e
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(3 ) leferentlate using | f' = f x (log f)’
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(¢) (Final, 2014) Let y = 708T Fmd in terms of
x only.
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3. IMPLICIT DIFFERENTIATION

(1) Find the line tangent to the curve y* = 423 + 2z at
the point (2,6).

(2) (Final, 2015) Let zy* + 2%y = 2. Find % at the
point (1,1).

(3) (Final 2012) Find the slope of the line tangent to the
curve y + x cosy = cosx at the point (0,1).
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